# Texas Higher Education Coordinating Board Automated Student and Adult Learner Follow-Up System Results by Type Major, CIP Code for 2018-2019 Former Students

Academic Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
99999999 - Undeclared Ma	jor										
Undeclared	4	22.2%	6	33.3%	1	5.6%	11	61.1%	7	38.9%	18
Total	4	22.2%	6	33.3%	1	5.6%	11	61.1%	7	38.9%	18

# Texas Higher Education Coordinating Board Automated Student and Adult Learner Follow-Up System Results by Type Major, CIP Code for 2018-2019 Former Students

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students		
11100200 - System, Networking, and LAN/WAN Management/Manager													
Graduate	0	0.0%	2 manage	50.0%	. <b>90.</b> 0	0.0%	2	50.0%	2	50.0%	4		
Non-returner	0	0.0%	12	75.0%	2	12.5%	14	87.5%	2	12.5%	16		
Total	0	0.0%	14	70.0%	2	10.0%	16	80.0%	4	20.0%	20		
11100300 - Computer and	Information	n Systems	s Security	/Informati	on Assura	nce							
Graduate	0	0.0%	3	75.0%	0	0.0%	3	75.0%	1	25.0%	4		
Non-returner	1	6.7%	4	26.7%	6	40.0%	11	73.3%	4	26.7%	15		
Total	1	5.3%	7	36.8%	6	31.6%	14	73.7%	5	26.3%	19		
15050100 - Heating, Ventil	ation , Air C	Condition	ing and R	efrigeratio	n Technol	ogy/Tech	nician						
Graduate	1	10.0%	7	70.0%	1	10.0%	9	90.0%	1	10.0%	10		
Non-returner	0	0.0%	4	44.4%	1	11.1%	5	55.6%	4	44.4%	9		
Total	1	5.3%	11	57.9%	2	10.5%	14	73.7%	5	26.3%	19		
15061200 - Industrial Tech	nology/Ted	hnician											
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1		
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1		
15061300 - Manufacturing	Engineerin	g Techno	ology/Tecl	nnician									
Graduate	0	0.0%	26	89.7%	2	6.9%	28	96.6%	1	3.4%	29		
Non-returner	2	11.8%	7	41.2%	5	29.4%	14	82.4%	3	17.6%	17		
Total	2	4.3%	33	71.7%	7	15.2%	42	91.3%	4	8.7%	46		
15130200 - CAD/CADD Dra	afting and/o	r Design	Technolo	gy/Techni	cian								
Graduate	1	14.3%	3	42.9%	2	28.6%	6	85.7%	1	14.3%	7		
Non-returner	0	0.0%	6	66.7%	2	22.2%	8	88.9%	1	11.1%	9		
Total	1	6.2%	9	56.2%	4	25.0%	14	87.5%	2	12.5%	16		
46030100 - Electrical and I	Power Tran	smission	Installati	on/Installe	r, General								
Graduate	0	0.0%	1	50.0%	1	50.0%	2	100.0%	0	0.0%	2		
Non-returner	0	0.0%	0	0.0%	4	100.0%	4	100.0%	0	0.0%	4		
Total	0	0.0%	1	16.7%	5	83.3%	6	100.0%	0	0.0%	6		
47060500 - Diesel Mechan	ics Techno	logy/Tech	nnician										
Graduate	0	0.0%	15	65.2%	2	8.7%	17	73.9%	6	26.1%	23		
Non-returner	2	9.1%	11	50.0%	1	4.5%	14	63.6%	8	36.4%	22		
Total	2	4.4%	26	57.8%	3	6.7%	31	68.9%	14	31.1%	45		
48050100 - Machine Tool 1	Гесhnology		st										
Graduate	0	0.0%	3	75.0%	1	25.0%	4	100.0%	0	0.0%	4		
Non-returner	0	0.0%	3	60.0%	0	0.0%	3	60.0%	2	40.0%	5		
Total	0	0.0%	6	66.7%	1	11.1%	7	77.8%	2	22.2%	9		

# Texas Higher Education Coordinating Board Automated Student and Adult Learner Follow-Up System Results by Type Major, CIP Code for 2018-2019 Former Students

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
48050800 - Welding Techr	nology/Weld	er									
Graduate	1	4.8%	16	76.2%	0	0.0%	17	81.0%	4	19.0%	21
Non-returner	2	6.9%	21	72.4%	3	10.3%	26	89.7%	3	10.3%	29
Total	3	6.0%	37	74.0%	3	6.0%	43	86.0%	7	14.0%	50
52020300 - Logistics, Mate	erials, and S	upply Ch	ain Manaç	gement							
Graduate	0	0.0%	1	50.0%	1	50.0%	2	100.0%	0	0.0%	2
Non-returner	0	0.0%	0	0.0%	4	100.0%	4	100.0%	0	0.0%	4
Total	0	0.0%	1	16.7%	5	83.3%	6	100.0%	0	0.0%	6

## Texas Higher Education Coordinating Board Automated Student and Adult Learner Follow-Up System Results by Type Major for 2018-2019 Former Students

Summary Page	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
Total Academic Students											
Undeclared	4	22.2%	6	33.3%	1	5.6%	11	61.1%	7	38.9%	18
Total	4	22.2%	6	33.3%	1	5.6%	11	61.1%	7	38.9%	18
Total Technical Students											
Graduate	3	2.8%	77	72.6%	10	9.4%	90	84.9%	16	15.1%	106
Non-returner	7	5.3%	69	52.7%	28	21.4%	104	79.4%	27	20.6%	131
Total	10	4.2%	146	61.6%	38	16.0%	194	81.9%	43	18.1%	237
Total Technical/Tech-Prep	Students										
Graduate	3	2.8%	77	72.6%	10	9.4%	90	84.9%	16	15.1%	106
Non-returner	7	5.3%	69	52.7%	28	21.4%	104	79.4%	27	20.6%	131
Total	10	4.2%	146	61.6%	38	16.0%	194	81.9%	43	18.1%	237
Grand Total											
Graduate	3	2.8%	77	72.6%	10	9.4%	90	84.9%	16	15.1%	106
Non-returner	7	5.3%	69	52.7%	28	21.4%	104	79.4%	27	20.6%	131
Undeclared	4	22.2%	6	33.3%	1	5.6%	11	61.1%	7	38.9%	18
Total	14	5.5%	152	59.6%	39	15.3%	205	80.4%	50	19.6%	255